Get out your homework and have it ready to check.

Classwork - Measures of Spread
1. Based on the following box and whisker plot, list the 5 number summary and the interquartile range (IQR).
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For questions 2 through 4, find the 5 number summary, the interquartile range (IQR), and then

truct a box and whisker plot for the data siven.
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Measures of Center
Mean — the average of the numbers in the data set.
Median — the middle number of the data set. Numbers must be put in order.
Mode - the number that occurs the most often.

Warm Up: Find the mean, median, mode, and range of the data set below.
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Measures of Spread
Range — Difference between the maximum and minimum.
Interquartile Range (IQR) — Difference between the 3" and 1% quartile.
Mean Absolute Deviation (MAD) — the average distance between each data value and the mean.

Example: Find thE mean Eh5ﬂ| te deviation of the set of data from the warm up.
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Got It?
A) The data set below shows the heights of eighg students from a class.

the set of data to the nearest tenth
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Practice Problems
1) The table below shows the total points scored by two volleyball teams.

Team 1 52 61 42 44 60 S0 55 42 49 a6
Team 2 a7 42 42 42 17 o4 o2d a2 29 37

Team 1 MAD = S" %1 \"\ij = HLI

B) Write a few sentences comparing their variation.




